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#include <Servo.h>

Servo sv, //ServoAX 7o H k “sv” HERT A g Rc,"l—.'k‘i&i\&é‘-%l: " i

#include <PID_v1.h> . Avduwine PIP3195 o 4~ F

double Setpoint, Input, Outp ut JBRDNS R NPIDHEALEHES
P1D myPID (&Input, &Output, &Setpomt 5.0 0.3 0.3 REVERSE). [IRDMSIWPIDRS Aty T ooy
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int thr = 900; //+& >4 HE(H)
int the = 900 //+z S+ BIfE (R %) A, 5 ReA 23335 BET
int thi - 900 /74 &+ Bilfl (&) % e (ARAFR . RadR, 3.
int strentrconst = 90; //AF 7Y T a9 —{EH {\,[—"./L,)ﬁ{ﬂ b atpZ @ éav&\\..ﬁ.gi&&@(-@?:.
int fullstrconst = 25; //A ZJLEAEAEE (B) o §'§‘&L@
int halfstrconst = 6, //ARMGRAE (F) i qu ARt 2E %
M o, g § RGN RS,
float fullspeed = 160; //JKEEHESE (0~255) - - q_ P
QE /—él' = \"l

int strcommand = strentrconst: 'i/ﬂ S"‘a) « IR & J\\:tz,;(ﬂ%:r&
float speed = 0; [/EITHAE—42&EEESE (0~255)
void setup() {

pinMode (2, OUTPUT); //&H+ 4 E=4LED

pinMode (3, OUTPUT): //sh®kt Y E=4LE

pinMode (4, OUTPUT); //&Etw >+ E=4LED

pinMode (5, OUTPUT): // TB6THAG0FNG IN2EH HE >
pinMode (6, OUTPUT): // TB6TH450FNG INTAHH A E >

//initialize the variables we're linked to P 2 =~
Setpoint = 250 //MEEomEEEm - ARBEE ARG . L me TERE

//set sampling time
myPID. SetSampleTime (40) ;

//set PID output limit f.}q
myPID. SetOutputlimits (-1 * fullspeed, fullspeed); "_Lh/'rﬁ-t ’? PI{?W@'*ZD‘};F

//turn the PID on
myPID. SetMode (AUTOMATIC) ;

Serial.begin(9600); m

s

sv. attach(9) //svoD it h £DSE ' (= H1Y 5T 3 Rt b A e T Y e L RETL

}

void loop() {
[l ERARY
analogRead(3): //A3:S 4 vt vUH
analogRead (4): //M:5 4 vt H i
analogRead(B); //A5:S5 4 v Y&

int right
int center
int left
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int br = 0, //status LSB:right sensor

int bc = 0; //status bit:center sensor

int bl 0; //status MSB:left sensor

if (rlg?t > thr) |

b
| digitalWrite(2, HIGH);
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else |
br = 0; i B o
| dEgitaIWrite{Z. LOW) ; %ﬁﬁ O\;{-,,-\"é@’ B %d 7o =3 L& |~
( b
lf (center > the) | %’% T ->N3 .

d|g:talwr|te{3 HIGH) ;
} : T
else { BTN A It FRAER) ARRE
be = 0; - = KO
| digitallrite(3, LOW): 35 33LED & &KT [ AKT 33




1 (Ieft > thi) | y
] dlgltalwrlte(d HIGH) ; B

else {

digltaIHrite(4 LOW) ;

int result = br + be + bl:
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// EGRER - MEORE

switch (result)
case 0! // 8 LOEFSE 000

break;

case 1: // ¥ANKER 001
strcommand = strontrconst - fullstrconst;
speed = ful lspeed;
break;
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case 2(-'j //0 (o EE) 010 » -;-%-IA"\ H’\ E.TF-; \"CSU[‘LJ halT

speed = 0; ] .
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case 31 // BWAHEER 011 p :
Ca{‘?:%n:mmmamd = strentrconst - halfstrconst; ; \/?_qg G i:‘fvfg’g'@’%‘m C¥ Béc a )

gpeeg = ful I speed;

reak:

case 4. // SEREE 100

strcommand = strentrconst + fullstreonst; g, [ i
speed = ful lspeed. T prrﬁ%?ﬁ—’%. & ﬁ#\ S‘T?-COW\Q_V\&;,_\ =

break:
case 5: // (EUHRHE) 101 AA ;

speed =
break;

case 6: // BBEEE 110
strcommand = strentrconst + halfstrconst;
speed = ful | speed;
break;

case 1: // E# 111
strcommand = strentrconst;
speed = ful lspeed;
break;

default:
strcommand = strcntrconst;

AR 2T H—RFS1F .

sv.write( strcommand ): //0~ 180 (deg) TiEE -~~~ ATP" ;,_"{ 1= 1= rx)%’?\/w{?’% ’2%‘13«3—:{;
((\2{31L4§%T?jdv RAT )
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double distance = analogRead (0) ; é(‘é\ 3&%”7 [‘g{‘: %3 b

distance = 5 * distance / 1023; // dista e’&t YHHARBEALR
Input = 8 * pow(distance, -1.2658); // &> NEBEZBERCTR (T2 — FRBISIHLHEAMY)
Input = constrain{Input, 100, 800); // BEEEOEMERZ100~300mmOEHEIZY I wF g vy
. A2 [x »

myP1D. Compute () : . ;}_,rr'ﬁ-] £-7 {ﬁ'([‘f: T F %[ -
if (Qutput > 0) {

digitalWrite{(b, LOW). //IN2

analogWrite (6, Output):; //IN1
} - (-

FATAL-N o Wt |

else {

analogWrite (b, -1 * Qutput). //IN2
digitalWrite(6, LOW); //IN1
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Serial.print{Output);
Serial.print(" 7).

I DS BT B R < - N A&
geriai.printg’l’ef%: /54 vt HE FRE o T 2 EW_Q?ER 1@2
; 15 ; —_ i T
gg”:!.g”ztégeng?r)://54 Ut th BRENE A\(ﬁl{,\i\ﬁo btz t=73 2 3¥5> T
erld.print ;

Serial.printin(right)!//54 vt >¥%E HREE 21 P’b-{é}’ﬁ:; 2 33 |



